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Exercise 1.3.3

We Need to pre
the following Nothing s .

i) SO (n ) へ {全州 = { 行
ii) For

any Min 0(n) 、
ヨ M
'
E SON s . t . M = ± な ・ NP

i)

When n is Odd
,

0 (い)

det I : I
, det (一生) = (ー げ = - I 。Theodore

, SO (n) へ { 企 、 一行 = 1行

ii)

Using ±
'に かじり and the property of dueminant

,

( l ABに 1A 11131 for any
A , BE GL(n.IR ) )

V ME 0 (い) 、 ヨ M
'
E SO(n) s . t

.

M = ± 生 ・ M
'

Theatre
,
for n d , show that 0 (n ) is isomorphic to

SO (n) × { 生 、
一 行 口

O (n ) ISO (n ) × { 企 、
一生 } if n is even

,
because ト 企 1 = 1

so 0(n ) 1 SO (n )性、一行 も 低 1
.


